Net-Direct™ Air Inlet Duct
I Part Number(s) : DIRLC9606RB1

© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

NOTE: This Duct System requires the Switch to be
rotated 90° from its standard orientation

Rear of Cabinet
’ ﬁ (Hot Aisle)

=y

_
Ducting System for 3
Cisco 9606R 7| .
17RU |
N
Equipment & :/,.
Mounting 7T A
«— Rail | I L
575mm {1 |, P
1RU Cable
B Manager (4x)
. CMDRH1
Front of Cabinet
(Cold Aisle)
M3x0.5 x 6mm
Flat Head Screw
Hardware Included o 2RU Cable
#12-24 Bonding Manager (4x)
M4 x 0.7 x 12mm Pan M6 x 1 M6 x 1 x 15mm Cage Nut Kit CMDRH2
Head Phillips Screw Cage Nut Round Head Screw 4 of each

WI/Split Lock Washer

25x
8x 25x

M6 Serrated FLANGE
Hex Nut
16x

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

Component Guide

9606R Air Filter
Bracket Left

~9606R Air Filter
Bracket Right

Vertical Mounting Bracket
(2x)

Adjustable Bracket Left Top
(LT) & Right Bottom (RB) (2x)

Extension Arm
(4x)

Adjustable Bracket Right Top
(RT) & Left Bottom (LB) (2x)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

1.0 Preparation

1.1 17RU Open Space Required
. Installation of the Switch, Bottom Inlet Duct, and Top Exhaust Duct requires 17RU. This space

must be open prior to Switch Installation (Figure 1).

| ——  —— 0 VT L | I_'
Top Exhaust Duct
F 3-1/2RU
f e— @_777—‘

1€

Bottom Inlet Duct T
L 3-1/2RU

Figure 1

I
I
I
I
I
I
I
I
I
‘ I
T - i I
® | | l
\1 RU !
Switch || Shared I
Rotated 90 DEG. BN :
I
- I
L, I
B I
|| I
I
DR :
— I 17RU
N 10RRU | OPEN SPACE
|| I REQUIRED
I
DR I
I
m I
" I
~ I
L I
I
D I
I
m I
L 1RU I
_7”/Shared :
) | |
L T T — ; |
‘ S . :
) R .
I
I
I
I
I
I
I
Y

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

2.0 Chassis Installation

2.1 Remove Mounting Ears

. Shown below
o,
-
G of| °F~
&
~
@\ S}
=
~
Q =~ <
@A\ o~
~ ~ \\@
. I~ -
~ e \\@
© =
~
NEL
~ L.
N
"\( /
. o
}/Q -
T

2.2 Vertical Mounting Bracket Installation
. Rotate Cisco 9606R 90 degrees counterclockwise. Fan Tray should be at top (Figure 2).

. Use M4 x 12mm (qty. 8) Pan Head Screws and (qty. 8) M4 Lock Washers for attaching Vertical
Mounting Brackets (Figure 3).

|

|
-
|

|
)

Figure 2 Figure 3

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

2.3 Optional Filter Bracket Installation
. Use M3 x 6mm (qty. 6) Flat Head Screws for attaching 9606R Air Filter Brackets (Figure 4).

Note: Filter Brackets do not need §
to be installed if NEBS-Compliant
Air Filter will not be utilized Figure 4

* Additional NEBS-Compliant information can be found at
WWW.CiSCo.com
(Cisco Catalyst 9600 Series Switches Hardware Installation Guide)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 5 of 10



V00029UE

INSTALLATION INSTRUCTIONS

© Panduit Corp. 2020

Cage Nut Installation

2.4

Install (qty. 4) Bonding Cage Nuts Labeled A.

Install (qty.16) M6 Cage Nuts In Locations (Figure 5).

. O
<O
W [
<2838
NZZoom o
N op=20.C = O
T OO0 0T Qw
H C »n < S N L
tQOc30mO
= = 0om g £
L2207 ¢ >
mbb © o
L R c
T cw nTh o
FosSz2y2
m mm.m >
SNN
4 N ™ N N N N
@) @)
37 28 26 24 22 20 78 75
ey ey /Ay/ayl gayA/Syly SN/ gayL/ay ey gay /Jl/Sysy /8
I /\ 1 \ 1 I \ /|_‘ _ i \ 0 \
I \ I I I I I I
I A\/,/ I I I I I I
I 4 « | I | 1 I I
= BRE) B R | R | R & @ =¥
\\|_|| \\I.l/\l \\|_|| \\|_|| \\|_|| \\|_|| \\IuL. \\IL_I
| \ | \ | \ PO PO | \ i \ i \
1 55 by s 5 ol & Aol B el B A F ol B A B ol B A Aol B A B ol 5 s B el 5 ol A
/.Llll\~ /III1,\ /II_rl\ /II_Vll\ /II_FI\ /II_FI\ /LII/I/\ /III_l,
/ \ I I I I \ I
\ Y _ _ _ _ \ _
| N " " " ,, "
< \ < \ I I I I < \ I
~ ~ " " " Py "
B . I} . oy \
! I I I I l I
&) rRE) @ " | wy  RE R,
W Vo \ ! \ || \ | LT !
_L_ M ALl AL ALl ALl M T
he ™\ A T \ ;7 ’ A \ 7 /7 \ As ¥ \ ’ Y \

t |

|

| B -

ZE | L€

| <2

| sz | »z

| &2 | Z

NE'

12| oz

| <4 1

|
N

\ J

y ) | |
N\ \_ s N\ 7/

“@@E@D\Mw@%@@%@%%%\E@%\@@%Q\E@&@Em\@@&@
[ |
" S

|
N

|
N

I/

- | t —1 t t

| | 8¢ | 8L 9L | S
] [ U

7 7

N V‘ ’/ V‘

Figure 5

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 6 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

2.5 Vertical Mount Chassis Installation into Rack

. Note: Cisco Switch must rotate 90 degrees counterclockwise for installation. The Fan Tray
will be at the top of the assembly.

. Bottom hole of Vertical Mounting Bracket installs into top hole of RU (Figures 6 & 7).

b
N ey
Ay
H
iy L |
/\@
V - R
N N
e ] O
W - N
| &
e | —_
By ( [l )
o & L .l
o - i
__mpll 0 ; S
o e ‘ N |
o \
N _shl o
— v § Fi 7
e L
:E I igure
:
i@ |
'y Figure 6 NI
A K
] 4

2.6 Extension Arm Installation

. Using the M6 Nuts provided, mount the Extension Arms to the Vertical Mounting Bracket
(Figure 8).

. Note: DO NOT fully tighten Nuts at this point

Figure 8

kil

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 7 of 10



© Panduit Corp. 2020

INSTALLATION INSTRUCTIONS

V00029UE

2.7

Adjustable Bracket Installation

Identify the two different Adjustable brackets. One is used for the top right and bottom left
locations (Figures 9 & 9A). The other is used for the bottom right and top left positions

(Figures 10 & 10A).

Using the M6 Nuts provided, mount the Adjustable Brackets to the Extension Arms (Figure 11).
The mounting location of the top slot of the Adjustable Bracket is in the same location of the
Chassis Vertical Mounting Bracket (Figure 11).

Secure the Brackets in place. Also, TIGHTEN all the M6 Nuts to the Extension Arms.

The mounting point of the Top
Adjustable Bracket is at the
same location as the Chassis
Vertical Mounting Bracket.

%

.
.
0
ey

B

w

s W 1™ 1 T T D
vinizjuju\ujujuiujufjuiufuguiniu]w|y g wir sy

Y\

T ™

)

v -
jmlufalulu(

=)
% 1%
mimjwy

T =

The mounting point of the Bottom
Adjustable Bracket is at the same
location as the Chassis Vertical
Mounting Bracket.

Figure 11

vm

[ECTRRY

"

@

®

Figure 10A

Figure 9A

Figure 10

Note: The top slot location relative to the
top of the part (Figures 9, 9A, 10 & 10A)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 8 of 10



© Panduit Corp. 2020

INSTALLATION INSTRUCTIONS

V00029UE

3.0

Inlet Duct Installation into Rack

Inlet Duct is installed directly underneath Chassis (Figures 12 & 13).

Figure 12

Exhaust Duct Installation into Rack
Exhaust Duct is installed directly above Chassis (Figures 14 & 15).

h Figure 14

1)

81l

|

Figure 13

,,,,,,,

1T

| |
,,,,,,,

| |
,,,,,,,

| |
,,,,,,,

,,,,,,,

fffffff

N

@

Figure 15

\

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 9 of 10



© Panduit Corp. 2020 INSTALLATION INSTRUCTIONS V00029UE

5.0 Cable Manager Installation

. Cable Managers are inserted into Keyholes and pushed downward to lock into place (Figure 16).

18

AEEEEE

N,

] 'fﬁgﬁ/ﬁﬁs'sﬁ/ﬁt

@ﬁﬁﬁ/ﬁgﬁ/ﬁ?ﬁ/ﬁgﬁ/ﬁgqﬁﬁl

7 or 7 & J 2

)

B

!
N~
O
‘ sl
% 3
X [
W |
%@ el
=~
~0 3
o A i
\@ m
~0 3 N
:@ %\ N
: g X
\fh Hﬁ‘ ™~
Figure 16
For Instructions in Local Languages E-mail:
and Technical Support: n“IT techsupport@panduit.com
duit Phone:
www.panduit.com/resources/install_maintain.asp www.panduit.com 866-405-6654

Page 10 of 10



